
N = 73

 73 circles in a 1x0.20000 rectangle

radius =   0.026704745881
ratio  =   7.489305492299

density  = 0.817748274539
contacts = 105

 E.SPECHT
09-JUL-2010

N = 74

 74 circles in a 1x0.20000 rectangle

radius =   0.026475820608
ratio  =   7.554062363662

density  = 0.814798941827
contacts = 174

 E.SPECHT
09-JUL-2010

N = 75

 75 circles in a 1x0.20000 rectangle

radius =   0.026341555892
ratio  =   7.592565937331

density  = 0.817455249879
contacts = 178

 E.SPECHT
17-AUG-2010

N = 76

 76 circles in a 1x0.20000 rectangle

radius =   0.025974590752
ratio  =   7.699832575179

density  = 0.805435739602
contacts = 190

 E.SPECHT
09-JUL-2010

N = 77

 77 circles in a 1x0.20000 rectangle

radius =   0.025636928896
ratio  =   7.801246428987

density  = 0.794955100115
contacts = 186

 E.SPECHT
09-JUL-2010

N = 78

 78 circles in a 1x0.20000 rectangle

radius =   0.025532079060
ratio  =   7.833282966582

density  = 0.798705804843
contacts = 194

 E.SPECHT
09-JUL-2010

N = 79

 79 circles in a 1x0.20000 rectangle

radius =   0.025288095149
ratio  =   7.908859833935

density  = 0.793558964666
contacts = 182

 E.SPECHT
29-JUL-2010

N = 80

 80 circles in a 1x0.20000 rectangle

radius =   0.025130533303
ratio  =   7.958446308584

density  = 0.793621224496
contacts = 202

 E.SPECHT
09-JUL-2010

N = 81

 81 circles in a 1x0.20000 rectangle

radius =   0.024961590337
ratio  =   8.012310005089

density  = 0.792774000352
contacts = 190

 E.SPECHT
09-JUL-2010

N = 82

 82 circles in a 1x0.20000 rectangle

radius =   0.024777535621
ratio  =   8.071827766203

density  = 0.790769568306
contacts = 197

 E.SPECHT
09-JUL-2010

N = 83

 83 circles in a 1x0.20000 rectangle

radius =   0.024596236628
ratio  =   8.131325252025

density  = 0.788742594090
contacts = 195

 E.SPECHT
06-AUG-2010

N = 84

 84 circles in a 1x0.20000 rectangle

radius =   0.024486787539
ratio  =   8.167670000849

density  = 0.791157208129
contacts = 186

 E.SPECHT
06-AUG-2010


